Contract 24-15 West 5th Aven	ue. West 7th A	venue, Iowa Street, and Mic	higan Street Recor	struction (#882	1067)			
Owner: Oshkosh WI, City of		Venue, 10wa Street, and 1916	ingui street necor	Struction (#602	1007)			
Solicitor: City of Oshkosh	1							
Bid Opening: 12/04/2023 11:0	0 AM CST							
514 opening, 12,01,2020 1110	1							
					Advance Con	struction Inc.	PTS Contr	actors. Inc
					2141 Woo		1 15 Conti	uctors, inc
	+					, WI 54241		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1	Helli Code	item Description	COLIVI	Quantity	ChitTite	\$6,342,602.40	Office	\$7,243,860.00
Section 1	+	Clearing; complete as				\$0,342,002.40		\$7,243,000.00
	1011	specified	Inch Diameter	92.00	\$50.00	\$4,600.00	\$72.00	\$6,624.00
	1011	Limbing existing trees;	men Diameter	92.00	\$30.00	φ <del>4</del> ,000.00	\$72.00	\$0,024.00
	1012	complete as specified	Each	1.00	\$2,200.00	\$2,200.00	\$515.00	\$515.00
	1012	Grubbing; complete as	Each	1.00	\$2,200.00	φ2,200.00	ф515.00	φ313.00
	1021	specified	Inch Diameter	92.00	\$30.00	\$2,760.00	\$21.00	\$1,932.00
	1021	Mobilization; complete as	men Diameter	92.00	\$30.00	φ2,700.00	\$21.00	\$1,752.00
	1050	specified	Lump Sum	1.00	\$299,450.00	\$299,450.00	\$598,950.15	\$598,950.15
	1030	Removing pavement;	Eurip Juni	1.00	Ψ277,430.00	Ψ277,430.00	φ0,00,000.10	ψ370,730.13
	1100	complete as specified	Square Yards	8,200.00	\$5.50	\$45,100.00	\$2.90	\$23,780.00
	1100	Removing curb and	oquare raras	0,200.00	φο.σσ	ψ10,100.00	Ψ2.70	Ψ20,7 00.00
		gutter; complete as						
	1110	specified	Linear Feet	24.00	\$12.00	\$288.00	\$6.00	\$144.00
		Removing concrete and			4	<del></del>	40000	<b>4-2-100</b>
		asphalt sidewalk and						
		driveway; complete as						
	1120	specified	Square Feet	34,500.00	\$1.00	\$34,500.00	\$0.85	\$29,325.00
		Unclassified excavation;	- 1	,	4-10-0	40 2/200100	4	4=1/0=01111
	1200	complete as specified	Cubic Yards	3,500.00	\$12.50	\$43,750.00	\$19.40	\$67,900.00
		Excavation special		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,	, ,,	,	1. /
		(paving); complete as						
	1220	specified	Tons	520.00	\$14.50	\$7,540.00	\$1.00	\$520.00
		7" concrete pavement;			· · · · · · · · · · · · · · · · · · ·			·
		with 5" CABC and						
		grading; complete as						
	1301	specified	Square Yards	8,800.00	\$50.37	\$443,256.00	\$52.25	\$459,800.00
		7" concrete pavement	1			·		·
		HES; with 5" CABC and						
		grading; complete as						
	1303	specified	Square Yards	2,000.00	\$54.37	\$108,740.00	\$56.35	\$112,700.00
		Concrete pavement gaps;	•		·		·	·
	1334	complete as specified	Each	2.00	\$1,000.00	\$2,000.00	\$1,025.00	\$2,050.00
		Crushed aggregate base						
		course; complete as						
	1340	specified	Tons	1,370.00	\$13.25	\$18,152.50	\$10.25	\$14,042.50
		Pavement ties; complete						
	1350	as specified	Each	40.00	\$10.00	\$400.00	\$10.25	\$410.00
		Drilled dowel bars; 1";						
	1352	complete as specified	Each	175.00	\$16.50	\$2,887.50	\$17.00	\$2,975.00

		venue, Iowa Street, and Mic	chigan Street Recor	struction (#88210	67)			
wner: Oshkosh WI, City o	of							
licitor: City of Oshkosh								
d Opening: 12/04/2023 11	1:00 AM CST							
					Advance Cons	truction Inc.	PTS Contrac	tors, Inc
				1	2141 Wood	lale Ave		,
					Green Bay,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Hem code	Adjust manholes and	COLVI	Quantity	Ollit I lice	Extension	Ollit Trice	LATERISION
		inlets; complete as						
	1260	-	Eash	88.00	\$450.00	#30.600.00	\$465.00	¢40.020
	1360	specified	Each	88.00	\$450.00	\$39,600.00	\$465.00	\$40,920.
	4000	Turf restoration;	0 1/ 1		47.70	# 45 400 00	40.05	0.40 (77
	1370	complete as specified	Square Yards	5,900.00	\$7.70	\$45,430.00	\$8.25	\$48,675.
		Restore gravel						
		driveway/apron;						
	1372	complete as specified	Square Yards	75.00	\$6.00	\$450.00	\$26.00	\$1,950.
		Cold weather covering						
		(concrete pavement) -						
		single visquine; complete						
	1380	as specified	Square Yards	1,610.00	\$0.01	\$16.10	\$0.01	\$16.
		Cold weather covering						
		(concrete pavement) -						
		double visquine;						
	1382	complete as specified	Square Yards	1,610.00	\$0.01	\$16.10	\$0.01	\$16.
		Up-charge for late season	-					
		cold weather concrete						
		pavement; complete as						
	1390	specified	Cubic Yards	315.00	\$0.01	\$3.15	\$10.25	\$3,228
		12" radius curb with 6"			4.11.2	40.00	420.00	4-7
		CABC and grading;						
	1410	complete as specified	Linear Feet	610.00	\$16.50	\$10,065.00	\$16.50	\$10,065
	1410	30" curb and gutter; 7";	Effical Teet	010.00	\$10.50	\$10,005.00	Ψ10.50	φ10,000
		with 5" CABC and						
		grading; complete as						
	1440		I in Feet	110.00	¢52.50	#F 99F 00	¢56.50	¢∠ 21⊑
	1440	specified Sidewalk curb; complete	Linear Feet	110.00	\$53.50	\$5,885.00	\$56.50	\$6,215
	1160			220.00	*******	#44 200 00	#2 ( 20	444 500
	1460	as specified	Linear Feet	320.00	\$35.00	\$11,200.00	\$36.00	\$11,520
		4" concrete sidewalk with						
		3" CABC and grading;						
	1500	complete as specified	Square Feet	19,600.00	\$6.25	\$122,500.00	\$8.15	\$159,740
		6" concrete sidewalk/						
		driveway/ramp with 3"						
		CABC and grading;						
	1510	complete as specified	Square Feet	13,600.00	\$7.30	\$99,280.00	\$9.30	\$126,480
		6" concrete sidewalk/						<u> </u>
		driveway/ramp (HES)		]				
		with 3" CABC and						
		grading; complete as						
	1514	specified	Square Feet	3,700.00	\$7.65	\$28,305.00	\$9.20	\$34,040.

		venue, Iowa Street, and Mic	higan Street Recoi	nstruction (#882106	57)			
wner: Oshkosh WI, City	of							
licitor: City of Oshkosh								
d Opening: 12/04/2023 11	1:00 AM CST							
					Advance Constr	uction Inc.	PTS Contract	ors, Inc
		1			2141 Wooda	le Ave		
					Green Bay, W	/I 54241		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		6" concrete step; complete		~				
	1530	as specified	Square Feet	170.00	\$66.00	\$11,220.00	\$67.00	\$11,390.
	1000	Curb ramp detectable	oquare reet	1, 0.00	φου.σο	\$11) <u>22</u> 0.00	φον.σο	Ψ11/030
		warning field						
		(natural/non-painted);						
	1540	complete as specified	Square Feet	390.00	\$35.00	\$13,650.00	\$36.00	\$14,040.
	1340	No. 4 reinforcing rods -	Square reet	390.00	\$33.00	\$13,830.00	\$36.00	\$14,040
		deformed; epoxy-coated;						
	1550		Linear Feet	3,200.00	\$2.00	\$6,400.00	\$2.05	¢6.500
	1550	complete as specified Drilled No. 4 sidewalk tie	Linear Feet	3,200.00	\$2.00	\$6,400.00	\$2.05	\$6,560
		bars - deformed; epoxy-						
		coated; complete as						
	1560	specified	Each	370.00	\$4.00	\$1,480.00	\$4.10	\$1,517
		Cold weather covering						
		(sidewalk) - single						
		visquine; complete as						
	1580	specified	Square Feet	4,510.00	\$0.01	\$45.10	\$0.01	\$45.
		Cold weather covering						
		(sidewalk) - double						
		visquine; complete as						
	1582	specified	Square Feet	4,510.00	\$0.01	\$45.10	\$0.01	\$45
		Up-charge for late season						
		cold weather concrete						
		sidewalk; complete as						
	1590	specified	Cubic Yards	70.00	\$0.01	\$0.70	\$0.01	\$0
		Furnish and install tree;						
	1600	complete as specified	Each	3.00	\$600.00	\$1,800.00	\$590.00	\$1,770
		Locate existing property				· ·		· · · · · · · · · · · · · · · · · · ·
		monuments; complete as						
	1650	specified	Each	55.00	\$38.21	\$2,101.55	\$40.00	\$2,200
	1000	Replace existing property	Zueri	00.00	400.21	\$2,101.00	\$10.00	Ψ2/200
		monuments; complete as						
	1652	specified	Each	55.00	\$39.13	\$2,152.15	\$40.00	\$2,200
	1032	Sawing existing	EatH	55.00	ф37.13	ΦΖ,13Ζ.13	₽ <del>4</del> 0.00	Φ2,200
		pavement; complete as						
	1700		Linas Fort	070.00	#0 /F	#0 F70 F0	ØF 00	¢4.050
	1700	specified	Linear Feet	970.00	\$2.65	\$2,570.50	\$5.00	\$4,850
		Sawing concrete						
		pavement full depth;				****		<u>.</u>
	1710	complete as specified	Linear Feet	320.00	\$2.65	\$848.00	\$5.00	\$1,600
		Tack coat; complete as						
	1900	specified	Gallons	35.00	\$11.90	\$416.50	\$12.25	\$428

ontract 24-15 West 5th Av	venue, West 7th A	venue, Iowa Street, and Mic	chigan Street Recor	struction (#88210	067)			
wner: Oshkosh WI, City	of							
licitor: City of Oshkosh								
d Opening: 12/04/2023 1	1:00 AM CST							
					Advance Const	truction Inc.	PTS Contract	tors, Inc
					2141 Wood	lale Ave		
					Green Bay, V	WI 54241		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		4" asphaltic transition LT		2				
		with 10" CABC and						
		grading; complete as						
	1911	specified	Square Yards	400.00	\$82.95	\$33,180.00	\$88.60	\$35,440
	1711	4" asphaltic surface LT	Square rarus	400.00	ψ02.70	ψ35,100.00	\$66.66	ψου,•••ο
		with 6" CABC and						
		grading; complete as						
	1916	specified	Square Yards	70.00	\$76.95	\$5,386.50	\$83.95	\$5,876
	1910	2" asphaltic surface LT	Square rarus	70.00	\$70.25	φυ,υσο.υσ	\$63.93	\$3,670
		with 6" CABC and						
		grading; complete as						
	1917	specified	Square Yards	250.00	\$49.95	\$12,487.50	\$56.25	\$14,062
	1917	Asphaltic cold weather	Square rarus	230.00	ψ <del>4</del> 9.90	\$12,407.30	\$50.25	\$14,002
		paving up-charge;						
	1918	complete as specified	Carrana Vanda	70.00	\$0.01	\$0.70	\$2.00	\$140
	1916	Furnish and install 12"	Square Yards	70.00	\$0.01	\$0.70	\$2.00	\$140
	2002	storm sewer; complete as	I in a see Free!	700.00	#00.00	#KO 200 00	#102.00	¢71 400
	2003	specified Furnish and install 15"	Linear Feet	700.00	\$99.00	\$69,300.00	\$102.00	\$71,400
	2007	storm sewer; complete as		(25.00	#402.00	#c4 955 00	400.00	A.4. OF
	2006	specified Furnish and install 18"	Linear Feet	625.00	\$103.00	\$64,375.00	\$99.00	\$61,875
	2000	storm sewer; complete as		(=0.00	440=00	4.0 ==0.00	400.00	455.05
	2009	specified	Linear Feet	650.00	\$107.00	\$69,550.00	\$89.00	\$57,850
		Furnish and install 24"						
		storm sewer; complete as						
	2015	specified	Linear Feet	60.00	\$131.00	\$7,860.00	\$260.00	\$15,600
		Furnish and install 30"						
		storm sewer; complete as						
	2021	specified	Linear Feet	10.00	\$197.00	\$1,970.00	\$595.00	\$5,950
		Furnish and install 36"						
		storm sewer; complete as						
	2024	specified	Linear Feet	40.00	\$220.00	\$8,800.00	\$375.00	\$15,000
		Furnish and install 14" x						
		23" HERCP Class III						
		storm sewer; complete as						
	2045	specified	Linear Feet	20.00	\$176.50	\$3,530.00	\$270.00	\$5,400
		Furnish and install 6' x 12'						
		box culvert storm sewer;						
	2088	complete as specified	Linear Feet	1,200.00	\$1,274.00	\$1,528,800.00	\$1,690.00	\$2,028,000

Contract 24-15 West 5th Av	enue, West 7th A	venue, Iowa Street, and Mic	higan Street Recor	struction (#88210	67)			
Owner: Oshkosh WI, City o								
Solicitor: City of Oshkosh								
Bid Opening: 12/04/2023 11	1:00 AM CST							
					Advance Cons	truction Inc.	PTS Contra	ectors. Inc
					2141 Wood		110 com	111013/1111
					Green Bay,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	item code	Temporary storm sewer	COLIVI	Quantity	OmtTrice	Extension	Ollit I lice	Extension
		bypass; complete as						
	2115	specified	Lump Cum	1.00	\$225,000.00	\$225,000.00	\$230,000.00	\$230,000.00
	2113	Furnish and install	Lump Sum	1.00	\$223,000.00	\$223,000.00	\$250,000.00	\$250,000.00
		standard storm sewer						
		manhole (4' diameter);						
	2201	complete as specified	Vertical Feet	69.00	\$688.00	\$47,472.00	\$480.00	\$33,120.00
	2201	Furnish and install	vertical reet	69.00	\$000.00	\$47,472.00	\$400.00	\$33,120.00
		standard storm sewer						
		manhole (5' diameter);						
	2202	` '	Vontical Foot	6.25	¢997.00	¢E E42 7E	¢E6E 00	¢2 E21 2E
	2202	complete as specified Furnish and install	Vertical Feet	6.25	\$887.00	\$5,543.75	\$565.00	\$3,531.25
		standard storm sewer						
		manhole (6' diameter);						
	2203	complete as specified	Vertical Feet	7.00	\$1,086.00	\$7,602.00	\$808.00	\$5,656.00
	2203	Furnish and install	vertical reet	7.00	\$1,000.00	\$7,002.00	\$000.00	\$3,030.00
		standard storm sewer						
		inlet manhole (4'						
		diameter); complete as						
	2212		Mantical Foot	4.00	¢000.00	#2.056.00	#702 00	¢2.160.00
	2213	specified Furnish and install storm	Vertical Feet	4.00	\$989.00	\$3,956.00	\$792.00	\$3,168.00
		sewer junction chamber						
		*						
	2225.4	N-13; complete as	г. 1	1.00	#00 <b>F0.4</b> 00	#00 <b>704</b> 00	#04 F1F 00	#0.6 E1E 00
	2225A	specified Furnish and install storm	Each	1.00	\$89,734.00	\$89,734.00	\$96,515.00	\$96,515.00
		sewer junction chamber						
		· ·						
	22257	O-10; complete as	T. J.	1.00	#87.000.00	#97 000 00	Ф02 440 00	#02.440.00
	2225B	specified	Each	1.00	\$86,000.00	\$86,000.00	\$83,440.00	\$83,440.00
		Furnish and install storm						
		sewer junction chamber						
	2225	W-10; complete as		4.00	440.495.00	#40 (25 00	445.445.00	44= 44= 00
	2225C	specified	Each	1.00	\$18,625.00	\$18,625.00	\$15,645.00	\$15,645.00
		Furnish and install storm						
		sewer junction chamber						
	2225	W-12; complete as			400 50 : 22	400 == : : : :	407 = 00	#0 < =-= ^^
	2225D	specified	Each	1.00	\$89,734.00	\$89,734.00	\$96,515.00	\$96,515.00
		Furnish and install storm						
		sewer junction chamber						
		W-21; complete as						
	2225E	specified	Each	1.00	\$75,234.00	\$75,234.00	\$77,505.00	\$77,505.00

Contract 24-15 West 5th Aver	1	venue, Iowa Street, and Mic	higan Street Recor	struction (#88210	(67)			
wner: Oshkosh WI, City of								
olicitor: City of Oshkosh								
d Opening: 12/04/2023 11:0	0 AM CST							
					Advance Constr	ruction Inc.	PTS Contrac	tors, Inc
					2141 Wooda			,
					Green Bay, W			
Castian Title	Itam Cada	Itam Description	UofM	Owantitu			Unit Price	Entancian
Section Title	Item Code	Item Description Furnish and install storm	UOTIVI	Quantity	Unit Price	Extension	Unit Price	Extension
		sewer junction chamber						
		O-11 and connection;						
	2225F	complete as specified	Lump Sum	1.00	\$85,000.00	\$85,000.00	\$91,655.00	\$91,655.
		Furnish and install						
		standard storm sewer						
		manhole riser (4'						
		diameter); complete as						
	2227	specified	Vertical Feet	12.50	\$341.00	\$4,262.50	\$512.00	\$6,400.0
		Furnish and install			·		·	
		standard storm sewer						
		inlet manhole riser (4'						
		diameter); complete as						
	2220		W IF .	25.00	#522.00	#12.200.00	#500.00	#14 FEO
	2230	specified	Vertical Feet	25.00	\$532.00	\$13,300.00	\$590.00	\$14,750.
		Furnish and install Type 1						
		inlet (with 18" sump);						
	2235	complete as specified	Each	1.00	\$3,052.00	\$3,052.00	\$3,085.00	\$3,085.
		Furnish and install Type 3						
		inlet (with 18" sump);						
	2237	complete as specified	Each	38.00	\$3,548.00	\$134,824.00	\$2,825.00	\$107,350.
		Furnish and install 6"						
		storm sewer lateral;						
	2400	complete as specified	Linear Feet	1,500.00	\$54.00	\$81,000.00	\$67.00	\$100,500.
		Furnish and install 8"						
		storm sewer lateral;						
	2402	complete as specified	Linear Feet	50.00	\$61.00	\$3,050.00	\$114.00	\$5,700
	2102	Furnish and install storm	Efficial Feet	00.00	\$01.00	\$5,656.66	\$11100	ψο,, σο.
		sewer marker balls;						
	2404		Ea ala	100.00	\$50.00	\$5,000.00	\$42.00	\$4,200.
	2404	complete as specified Furnish and install storm	Each	100.00	\$50.00	\$5,000.00	\$42.00	\$4,200.
		sewer clay dams;						
	2406	complete as specified	Each	24.00	\$150.00	\$3,600.00	\$115.00	\$2,760.
		Furnish and install storm						
		sewer lateral inlet;						
	2408	complete as specified	Each	36.00	\$1,275.00	\$45,900.00	\$955.00	\$34,380
		Storm lateral inlet						
		adjustments; complete as						
	2414	specified	Each	36.00	\$50.00	\$1,800.00	\$1.00	\$36.
		Furnish; install; maintain;				.,		,
		and remove Type D						
		modified inlet protection;						
	2508	complete as specified	Each	100.00	\$120.00	\$12,000.00	\$72.00	\$7,200.

		venue, Iowa Street, and Mic	higan Street Recor	struction (#88210	067)			
vner: Oshkosh WI, City of								
licitor: City of Oshkosh								
l Opening: 12/04/2023 11:0	00 AM CST							
					Advance Const	ruction Inc.	PTS Contract	ors, Inc
					2141 Wood	ale Ave		
					Green Bay, V	WI 54241		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Sediment removal - Type		~******				
		D modified inlet						
		protection; complete as						
	2510	specified	Each	100.00	\$8.00	\$800.00	\$1.00	\$100.
	2510	Furnish; install; maintain;	Each	100.00	ψ0.00	\$000.00	\$1.00	ψ100.
		and remove stone						
		tracking pad; complete as						
	2512		Faal	4.00	¢1 200 00	¢4 800 00	¢1.00	¢4
	2512	specified Furnish; install; maintain;	Each	4.00	\$1,200.00	\$4,800.00	\$1.00	\$4.
	0=44	and remove stone bag;		400.00	#10.00	## 000 00	<b>444</b> 00	44.400
	2516	complete as specified Furnish; install; maintain;	Each	100.00	\$10.00	\$1,000.00	\$11.00	\$1,100
		1 ' ' ' '						
		and remove 12" diameter						
		sediment logs; complete						
	2518	as specified	Linear Feet	200.00	\$8.00	\$1,600.00	\$11.00	\$2,200.
		Furnish; install; maintain;						
		and remove dewatering						
		tank system; complete as						
	2524	specified	Each	4.00	\$2,000.00	\$8,000.00	\$1.00	\$4.
		Abandon 8" - 12" storm						
		sewer; complete as						
	2800	specified	Linear Feet	200.00	\$5.00	\$1,000.00	\$16.00	\$3,200
		Remove 30" and smaller						
		storm sewer; complete as						
	2804	specified	Linear Feet	2,500.00	\$33.00	\$82,500.00	\$24.00	\$60,000
		Remove 66" and larger						
		storm sewer; complete as						
	2808	specified	Linear Feet	1,300.00	\$38.00	\$49,400.00	\$70.00	\$91,000.
		Abandon storm sewer						
		manholes and inlets;						
	2810	complete as specified	Each	15.00	\$700.00	\$10,500.00	\$280.00	\$4,200.
		Remove storm sewer			·		·	···
		manholes and inlets;						
	2812	complete as specified	Each	35.00	\$700.00	\$24,500.00	\$350.00	\$12,250
		Connect to existing storm		1 22.30	4. 20.00	4=-,- 30100	4223.00	Ţ- <b>2/2</b> 001
		sewer main; complete as						
	2850	specified	Each	10.00	\$2,750.00	\$27,500.00	\$1,290.00	\$12,900.
	2030	Connect to existing storm	Lacri	10.00	Ψ2,1 30.00	Ψ27,500.00	Ψ1,270.00	ψ12,700.
		sewer lateral; complete as						
	2852	specified	Each	15.00	\$50.00	\$750.00	\$265.00	\$3,975.

		venue, Iowa Street, and Mic	nigan Street Kecor	istruction (#882100	57)			
wner: Oshkosh WI, City	of							
licitor: City of Oshkosh								
d Opening: 12/04/2023 1	1:00 AM CST							
					Advance Const	ruction Inc.	PTS Contract	ors, Inc
					2141 Wooda	ale Ave		
					Green Bay, V	VI 54241		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Connect to existing storm						
		sewer manhole; complete						
	2856	as specified	Each	1.00	\$1,500.00	\$1,500.00	\$390.00	\$390.
		Connect to existing storm			·	·		
		sewer inlet; complete as						
	2858	specified	Each	1.00	\$1,000.00	\$1,000.00	\$390.00	\$390.
		Storm sewer utility line			, ,,	, ,,,,,,,,,	****	****
		opening (ULO); complete						
	2914	as specified	Each	5.00	\$750.00	\$3,750.00	\$1.00	\$5.
	2711	Excavation special	Buch	5.00	ψ/ 00.00	\$5,7 50.00	ψ1.00	φοι
		(storm); complete as						
	2950	specified	Tons	500.00	\$14.50	\$7,250.00	\$11.00	\$5,500
	2730	Bentonite slurry dam	1013	300.00	ψ14.50	\$7,230.00	ψ11.00	φ5,500
		(storm); complete as						
	2952	specified	Faal	35.00	\$1,000.00	\$35,000.00	\$850.00	\$29,750
	2932	Furnish and install 8"	Each	33.00	\$1,000.00	\$33,000.00	\$830.00	\$29,730
		sanitary sewer (relay);						
	3000		I in a sur Free!	290.00	\$204.00	#F0.160.00	\$241.00	\$69,890
	3000	complete as specified Furnish and install 10"	Linear Feet	290.00	\$204.00	\$59,160.00	\$241.00	\$09,690
	2002	sanitary sewer (relay);	I in a sur Free!	070.00	¢170.00	#164 000 00	¢170.00	¢17.4.000
	3002	complete as specified Furnish and install 15"	Linear Feet	970.00	\$170.00	\$164,900.00	\$170.00	\$164,900
	2007	sanitary sewer (relay);			440=00	#480 500 00	<b>#</b>	#122 000
	3006	complete as specified	Linear Feet	660.00	\$195.00	\$128,700.00	\$200.00	\$132,000
		Furnish and install 8"						
		sanitary sewer drop;						
	3060	complete as specified	Vertical Feet	12.50	\$459.00	\$5,737.50	\$315.00	\$3,937
		Furnish and install						
		standard sanitary sewer						
		manhole (4' diameter);						
	3100	complete as specified	Vertical Feet	167.00	\$459.00	\$76,653.00	\$410.00	\$68,470
		Furnish and install						
		sanitary sewer external						
		manhole chimney seal;						
	3114	complete as specified	Each	15.00	\$550.00	\$8,250.00	\$565.00	\$8,475
		Furnish and install						
		sanitary sewer external						
		manhole chimney seal						
		extension; complete as						
	3116	specified	Each	2.00	\$500.00	\$1,000.00	\$515.00	\$1,030

		venue, Iowa Street, and Mic	ingan Street Recoi	13114011011 (#00210	,07)			
vner: Oshkosh WI, City								
licitor: City of Oshkosh								
l Opening: 12/04/2023 1	1:00 AM CST							
					Advance Const	ruction Inc.	PTS Contract	ors, Inc
					2141 Wooda	ale Ave		
					Green Bay, V	WI 54241		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 10" x						
		4" sanitary sewer factory						
		wyes or tees; complete as						
	3202	specified	Each	1.00	\$245.00	\$245.00	\$295.00	\$295
		Furnish and install 15" x			· ·	·	·	·
		4" sanitary sewer factory						
		wyes or tees; complete as						
	3206	specified	Each	2.00	\$561.00	\$1,122.00	\$475.00	\$950
		Furnish and install 8" x 6"			,	, ,	,	****
		sanitary sewer factory						
		wyes or tees; complete as						
	3210	specified	Each	5.00	\$146.00	\$730.00	\$220.00	\$1,100
	0210	Furnish and install 10" x	Zuerr	0.00	Ψ110.00	ψ, σσ.σσ	\$220.00	<b>\$1,100</b>
		6" sanitary sewer factory						
		wyes or tees; complete as						
	3212	specified	Each	22.00	\$275.00	\$6,050.00	\$350.00	\$7,700
	0212	Furnish and install 15" x	Lucii	22.00	\$270.00	φο,οσο.σο	фосолос	φ1,100
		6" sanitary sewer factory						
		wyes or tees; complete as						
	3216	specified	Each	20.00	\$687.00	\$13,740.00	\$475.00	\$9,500
	3210	Furnish and install 4"	Lacii	20.00	φοσσο	ψ15,7 40.00	φ±73.00	ψ2,300
		sanitary sewer laterals						
		(new); complete as						
	3230	specified	Linear Feet	110.00	\$119.00	\$13,090.00	\$120.00	\$13,200
	3230	Furnish and install 4"	Linear reet	110.00	\$119.00	\$13,090.00	\$120.00	\$13,200
		sanitary sewer riser						
		(new); complete as						
	3231	specified	Linear Feet	15.00	\$119.00	\$1,785.00	\$120.00	\$1,800
	3231	Furnish and install 4"/6"	Linear reet	15.00	\$119.00	\$1,785.00	\$120.00	\$1,000
		sanitary sewer lateral						
		(relay); complete as						
	2224	T	Linear Feet	1 660 00	¢122.00	¢204 100 00	¢120.00	¢100.200
	3234	specified Furnish and install 4"/6"	Linear reet	1,660.00	\$123.00	\$204,180.00	\$120.00	\$199,200
		sanitary sewer riser						
	2225	(relay); complete as	Linas Foot	202.00	¢100.00	#04.04C.00	#100.00	#04.044
	3235	specified Furnish and install	Linear Feet	202.00	\$123.00	\$24,846.00	\$120.00	\$24,240
		sanitary sewer lateral						
	2224	marker balls; complete as		07.00	A=0.00	4405000	46.55	. ــ د د د
	3236	specified	Each	97.00	\$50.00	\$4,850.00	\$43.00	\$4,17

		venue, Iowa Street, and Mic	higan Street Recor	struction (#8821	067)			
wner: Oshkosh WI, City	of							
licitor: City of Oshkosh								
d Opening: 12/04/2023 1	1:00 AM CST							
					Advance Cons	struction Inc.	PTS Contrac	ctors, Inc
				1	2141 Woo	dale Ave		
					Green Bay,	WI 54241		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install clay		1				
		dams; complete as						
	3238	specified	Each	25.00	\$150.00	\$3,750.00	\$145.00	\$3,625.
		Furnish and install			·	. ,	·	
		connection to existing 8"						
		sanitary sewer mains;						
	3300	complete as specified	Each	5.00	\$1,000.00	\$5,000.00	\$1,305.00	\$6,525
		Furnish and install			, ,	, , , , , , , , , , , , , , , , , , , ,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	1-/
		connection to existing 10"						
		sanitary sewer mains;						
	3302	complete as specified	Each	1.00	\$1,200.00	\$1,200.00	\$1,575.00	\$1,575
	0002	Furnish and install	Zueri	1.00	ψ1/ <b>2</b> 00.00	\$1,200.00	\$1,070.00	<i>\$1,0.70</i>
		connection to existing 15"						
		sanitary sewer mains;						
	3306	complete as specified	Each	2.00	\$1,000.00	\$2,000.00	\$2,245.00	\$4,490
		Furnish and install	Zueri	2.00	\$1,000.00	\$2,000.00	Ψ2/210.00	<b>\$1,170</b>
		sanitary sewer concrete						
		collars; complete as						
	3330	specified	Each	3.00	\$500.00	\$1,500.00	\$1.00	\$3
	5550	Core into existing	Euch	5.00	φοσο.σσ	ψ1,000.00	ψ1.00	φο
		manhole; complete as						
	3332	specified	Each	1.00	\$2,000.00	\$2,000.00	\$7,900.00	\$7,900
	5552	Furnish and install 10"	Euch	1.00	Ψ2,000.00	\$2,000.00	\$7,500.00	Ψ1,500
		sanitary sewer open cut						
		casing pipes; complete as						
	3404	specified	Linear Feet	240.00	\$67.00	\$16,080.00	\$137.00	\$32,880
	3404	Furnish and install 18"	Linear reet	240.00	\$07.00	\$10,000.00	\$137.00	\$52,000
		sanitary sewer open cut						
		casing pipes; complete as						
	3410	specified	Linear Feet	20.00	\$127.00	\$2,540.00	\$215.00	\$4,300
	3410	Rock excavation;	Linear reet	20.00	\$127.00	\$2,340.00	\$215.00	Φ <del>4</del> ,300
	3600	complete as specified	Cubic Yards	25.00	\$150.00	\$3,750.00	\$1.00	\$25
	3600	Closed circuit televising;	Cubic Tarus	25.00	\$150.00	\$3,730.00	\$1.00	\$23
	3700	Ü	Linear Feet	1,920.00	\$2.75	\$5,280.00	\$1.80	<b>ድጋ 4</b> E <i>C</i>
	3/00	complete as specified Closed circuit televising -	Linear reet	1,920.00	\$2.75	⊅3,280.00	\$1.80	\$3,456
		using push camera;		1				
	2710	· ·	Eash	4.00	¢250.00	¢1 000 00	¢1.00	dt 4
	3710	complete as specified	Each	4.00	\$250.00	\$1,000.00	\$1.00	\$4.
		Abandon sanitary sewer		1				
	2000	manholes; complete as	F. 1	2.00	#E00.00	#1 000 00	#E00.00	#4 4 CA
	3800	specified	Each	2.00	\$500.00	\$1,000.00	\$580.00	\$1,160

ontract 24-15 West 5th Avenu	ie, West 7th A	venue, Iowa Street, and Mic	higan Street Recor	struction (#8821	067)			
wner: Oshkosh WI, City of								
licitor: City of Oshkosh								
d Opening: 12/04/2023 11:00	AM CST							
					Advance Cons		PTS Contra	ctors, Inc
					2141 Woo	dale Ave		
					Green Bay,	WI 54241		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Abandon 8" sanitary						
		sewer; complete as						
	3802	specified	Linear Feet	28.00	\$5.00	\$140.00	\$13.00	\$364
		Abandon 10" sanitary						
		sewer; complete as						
	3804	specified	Linear Feet	563.00	\$2.00	\$1,126.00	\$16.00	\$9,008
		Abandon 30" sanitary						
		sewer; complete as						
	3818	specified	Linear Feet	571.00	\$32.00	\$18,272.00	\$35.00	\$19,985
		Remove sanitary sewer						
		manholes; complete as						
	3852	specified	Each	3.00	\$500.00	\$1,500.00	\$580.00	\$1,740
		Remove sanitary sewer;						
	3854	complete as specified	Linear Feet	211.00	\$39.00	\$8,229.00	\$62.00	\$13,082
		Sanitary sewer utility line						
		opening (ULO); complete						
	3890	as specified	Each	2.00	\$800.00	\$1,600.00	\$1.00	\$2
		Excavation special						
		(sanitary); complete as						
	3892	specified	Tons	60.00	\$14.50	\$870.00	\$11.00	\$660
		Bentonite slurry dam						
		(sanitary); complete as						
	3894	specified	Each	28.00	\$1,400.00	\$39,200.00	\$650.00	\$18,200
		Furnish and install 4"						
		ductile iron water main						
		(relay) with polywrap;						
	4000	complete as specified	Linear Feet	2.00	\$200.00	\$400.00	\$2,460.00	\$4,920
		Furnish and install 6"						
		ductile iron water main						
		(relay) with polywrap;						
	4002	complete as specified	Linear Feet	250.00	\$106.00	\$26,500.00	\$170.00	\$42,500
		Furnish and install 8"						
		ductile iron water main						
		(relay) with polywrap;						
	4004	complete as specified	Linear Feet	2,040.00	\$155.00	\$316,200.00	\$155.00	\$316,200
		Furnish and install 10"						
		ductile iron water main						
		(relay) with polywrap;						
	4006	complete as specified	Linear Feet	150.00	\$258.00	\$38,700.00	\$195.00	\$29,250

Contract 24-15 West 5th Av	enue, West 7th A	venue, Iowa Street, and Mic	higan Street Reco	nstruction (#882106	57)			
Owner: Oshkosh WI, City	of							
olicitor: City of Oshkosh								
id Opening: 12/04/2023 11	1:00 AM CST							
					Advance Constru	uction Inc.	PTS Contract	ors, Inc
					2141 Wooda	le Ave		
					Green Bay, W	T 54241		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 12"		2				
		ductile iron water main						
		(relay) with polywrap;						
	4008	complete as specified	Linear Feet	600.00	\$178.00	\$106,800.00	\$185.00	\$111,000.0
	1000	Furnish and install 1"	Effical Feet	000.00	ψ170.00	Ψ100,000.00	\$100.00	ψ111,000.0
		water service (relay);						
	4036	complete as specified	Linear Feet	1,453.00	\$90.00	\$130,770.00	\$96.00	\$139,488.0
	1000	Furnish and install 1"	Effical Feet	1,155.60	ψ>0.00	Ψ150,770.00	ψ, σ. σ. σ.	ψ107,100.0
		water service (new);						
	4042	complete as specified	Linear Feet	125.00	\$90.00	\$11,250.00	\$96.00	\$12,000.0
	4042	Furnish and install 1"	Linear Feet	123.00	\$70.00	\$11,250.00	\$20.00	\$12,000.0
		corporation and stop box;						
	4048	complete as specified	Each	44.00	\$669.00	\$29,436.00	\$570.00	\$25,080.0
	4040	Furnish and install water	Each	44.00	\$002.00	\$29,430.00	\$370.00	\$25,000.0
		service clay dams;						
	4055	complete as specified	Each	23.00	\$150.00	\$3,450.00	\$90.00	\$2,070.0
	4000	Furnish and install	Each	23.00	φ150.00	\$5, <del>4</del> 50.00	\$50.00	\$2,070.0
		connections to existing 4"						
		water main; complete as						
	4056	specified	Each	1.00	\$2,207.00	\$2,207.00	\$1,945.00	\$1,945.0
	4030	Furnish and install	EdCII	1.00	\$2,207.00	\$2,207.00	\$1,945.00	\$1,940.0
		connections to existing 6"						
		water main; complete as						
	4058	specified	Each	4.00	\$2,288.00	\$9,152.00	\$3,185.00	\$12,740.0
	4036	Furnish and install	EdCII	4.00	\$2,288.00	\$9,132.00	\$3,183.00	\$12,740.
		connections to existing 8"						
		-						
	4060	water main; complete as specified	Eash	F 00	¢2 970 00	¢14.2E0.00	#2 26E 00	¢16 225 (
	4060	Furnish and install	Each	5.00	\$2,870.00	\$14,350.00	\$3,265.00	\$16,325.0
		connections to existing						
		10" water main; complete						
	4062	as specified	Each	1.00	\$3,116.00	\$3,116.00	\$4,675.00	\$4,675.0
	4002	Furnish and install	EdCII	1.00	\$3,110.00	\$3,116.00	\$4,873.00	\$4,073.0
		connections to existing						
	4064	12" water main; complete	Each	1.00	\$3,727.00	\$3,727.00	\$4,785.00	\$4,785.
	4064	as specified Furnish and install 6" x 6"	Each	1.00	\$3,727.00	\$3,727.00	⊅ <del>4</del> ,/03.00	\$4,785.0
	4101	water main tee; complete	East.	1.00	фE14.00	¢=14.00	¢E4E 00	фЕ.4E.
	4101	as specified Furnish and install 8" x 6"	Each	1.00	\$514.00	\$514.00	\$545.00	\$545.0
	4440	water main tee; complete	г		0.000	210000	0740.00	
	4110	as specified	Each	6.00	\$677.00	\$4,062.00	\$710.00	\$4,260.

		venue, Iowa Street, and Michi	gun street neet	1 1002100	,,			
vner: Oshkosh WI, City	or	<del> </del>						
licitor: City of Oshkosh								
d Opening: 12/04/2023 1	1:00 AM CST							
					Advance Constru		PTS Contracto	ors, Inc
					2141 Woodal			
					Green Bay, W	I 54241		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 8" x 8"						
		water main tee; complete						
	4111	as specified	Each	4.00	\$785.00	\$3,140.00	\$805.00	\$3,220.
		Furnish and install 10" x						
		6" water main tee;						
	4119	complete as specified	Each	1.00	\$975.00	\$975.00	\$995.00	\$995
		Furnish and install 8" x						
		10" water main cross;						
	4190	complete as specified	Each	1.00	\$1,272.00	\$1,272.00	\$1,295.00	\$1,295
		Furnish and install 8" x			4 5/21 2.00	4-,	42,210100	4-7
		12" water main cross;						
	4191	complete as specified	Each	1.00	\$1,337.00	\$1,337.00	\$1,365.00	\$1,365
	1171	Furnish and install 10" x	Lucii	1.00	\$1,007.100	\$1,007.00	\$1,000.00	Ψ1,000
		12" water main cross;						
	4197	complete as specified	Each	1.00	\$1,707.00	\$1,707.00	\$1,710.00	\$1,710
	4177	Furnish and install 10" 22-	Lacri	1.00	\$1,707.00	\$1,7 07.00	\$1,7 10.00	ψ1,710
		1/2 degree water main						
		bend; complete as						
	4229	specified	Earle	2.00	\$652.00	¢1 204 00	\$665.00	¢1 220
	4229	Furnish and install 4" 45	Each	2.00	\$632.00	\$1,304.00	\$665.00	\$1,330
	400=	degree water main bend;		200	*****	#450.00	*****	0=40
	4235	complete as specified Furnish and install 6" 45	Each	2.00	\$225.00	\$450.00	\$255.00	\$510
		1						
		degree water main bend;						
	4236	complete as specified	Each	28.00	\$318.00	\$8,904.00	\$340.00	\$9,520
		Furnish and install 8" 45						
		degree water main bend;						
	4237	complete as specified	Each	8.00	\$416.00	\$3,328.00	\$435.00	\$3,480
		Furnish and install 10" 45						
		degree water main bend;						
	4238	complete as specified	Each	4.00	\$662.00	\$2,648.00	\$675.00	\$2,700
		Furnish and install 12" 45						
		degree water main bend;						
	4239	complete as specified	Each	8.00	\$889.00	\$7,112.00	\$905.00	\$7,240
		Furnish and install 6" x 4"	·					
		water main reducer;						
	4262	complete as specified	Each	1.00	\$250.00	\$250.00	\$280.00	\$280
		Furnish and install 8" x 6"						
		water main reducer;						
	4264	complete as specified	Each	2.00	\$359.00	\$718.00	\$380.00	\$760

		venue, Iowa Street, and Mich	igan Street Keco	nstruction (#882106	17)			
wner: Oshkosh WI, City	of							
olicitor: City of Oshkosh								
id Opening: 12/04/2023 1	1:00 AM CST							
					Advance Constru	uction Inc.	PTS Contracto	ors. Inc
		<u> </u>			2141 Woodal			-, -
					Green Bay, W			
Section Title	Itam Cada	Item Description	UofM	Orrantitu	Unit Price	Extension	Unit Price	Extension
Section 11tie	Item Code		UOTIVI	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 10" x						
		6" water main reducer;						
	4266	complete as specified	Each	3.00	\$486.00	\$1,458.00	\$495.00	\$1,485.
		Furnish and install 12" x						
		8" water main reducer;						
	4270	complete as specified	Each	1.00	\$209.00	\$209.00	\$675.00	\$675.
		Furnish and install 8"						
		water main plug;						
	4309	complete as specified	Each	1.00	\$2,159.00	\$2,159.00	\$220.00	\$220.0
		Cut and cap existing 4"			, ,	, , , , , , , , , , , , , , , , , , , ,	,	
		water main; complete as						
	4350	specified	Each	1.00	\$156.00	\$156.00	\$1,845.00	\$1,845.
	4330	Cut and cap existing 6"	EdCII	1.00	\$136.00	\$136.00	\$1,645.00	\$1,040.
		water main; complete as				****	*** ***	
	4352	specified	Each	2.00	\$208.00	\$416.00	\$1,895.00	\$3,790.
		Cut and cap existing 8"						
		water main; complete as						
	4354	specified	Each	2.00	\$327.00	\$654.00	\$2,545.00	\$5,090.
		Cut and cap existing 10"						
		water main; complete as						
	4356	specified	Each	2.00	\$421.00	\$842.00	\$2,638.00	\$5,276.
		Cut and cap existing 12"					•	·
		water main; complete as						
	4358	specified	Each	2.00	\$1,500.00	\$3,000.00	\$3,265.00	\$6,530.
	1000	Furnish and install 4"	Euch	2.00	\$1,000.00	фо,000.00	ψυ,200.00	φ0,000.
		water main gate valve;						
	4400	- C	г 1	1.00	#1 515 00	#1 515 00	#1 (05 00	#1.COF
	4400	complete as specified	Each	1.00	\$1,517.00	\$1,517.00	\$1,605.00	\$1,605.
		Furnish and install 6"						
		water main gate valve;						
	4401	complete as specified	Each	10.00	\$1,792.00	\$17,920.00	\$1,880.00	\$18,800.
		Furnish and install 8"						
		water main gate valve;						
	4402	complete as specified	Each	25.00	\$2,500.00	\$62,500.00	\$2,645.00	\$66,125.
		Furnish and install 10"						
		water main gate valve;						
	4403	complete as specified	Each	6.00	\$3,639.00	\$21,834.00	\$3,845.00	\$23,070.
	1103	Furnish and install 12"	Duci.	0.00	ψο/οσσ.000	Ψ=1,00 1.00	\$5,610.00	Ψ20,070.
		water main gate valve;						
	4404	-	Earl	5.00	¢4.207.00	¢21 00E 00	¢4.6EE.00	¢00.075
	4404	complete as specified Furnish and install	Each	5.00	\$4,397.00	\$21,985.00	\$4,655.00	\$23,275.
		hydrant; complete as						
	4500	specified	Each	7.00	\$5,845.00	\$40,915.00	\$5,445.00	\$38,115.

		venue, Iowa Street, and Micl	nigan Street Recor	nstruction (#882106	67)			
Owner: Oshkosh WI, City	of							
Solicitor: City of Oshkosh								
Bid Opening: 12/04/2023 11	1:00 AM CST							
					Advance Constr	ruction Inc.	PTS Contrac	tors, Inc
					2141 Wooda	le Ave		
					Green Bay, WI 54241			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 2"		~ ′				
		water main casing pipe;						
	4712	complete as specified	Linear Feet	200.00	\$8.00	\$1,600.00	\$35.00	\$7,000.0
		Furnish and install 18"			44444	4-/	444144	4.,
		water main casing pipe;						
	4726	complete as specified	Linear Feet	60.00	\$129.00	\$7,740.00	\$215.00	\$12,900.0
		Furnish and install 24"			4	4.7	4=====	4,-
		water main casing pipe;						
	4730	complete as specified	Linear Feet	50.00	\$149.00	\$7,450.00	\$265.00	\$13,250.0
	1750	Rock excavation;	Efficur rect	56.66	Ψ117.00	ψ1,130.00	Ψ200.00	ψ10,200.0
	4800	complete as specified	Cubic Yards	20.00	\$100.00	\$2,000.00	\$1.00	\$20.0
	1000	Abandon water main on	Cubic Turus	20.00	<b>\$100.00</b>	\$2,000.00	Ψ1.00	Ψ20.0
		West 5th Avenue;						
	4900	complete as specified	Lump Sum	1.00	\$2,500.00	\$2,500.00	\$1,665.00	\$1,665.0
	1300	Abandon water main on	Zump Jum	1.00	\$ <b>2</b> )500.00	\$2,000.00	\$1,000.00	Ψ1/000.0
		West 7th Avenue;						
	4902	complete as specified	Lump Sum	1.00	\$2,500.00	\$2,500.00	\$1,665.00	\$1,665.0
	1702	Abandon water main on	Zump Jum	1.00	\$ <b>2</b> )500.00	\$2,000.00	\$1,000.00	Ψ1/00010
		Iowa Street; complete as						
	4904	specified	Lump Sum	1.00	\$2,500.00	\$2,500.00	\$1,665.00	\$1,665.0
		Abandon water main on	r		42,000	42,000.00	4-7	4-/*****
		Michigan Street; complete						
	4906	as specified	Lump Sum	1.00	\$2,500.00	\$2,500.00	\$1,665.00	\$1,665.0
		Remove water main;	r		42,000	42,000.00	4-7	4-,00010
	4920	complete as specified	Linear Feet	631.00	\$30.00	\$18,930.00	\$30.00	\$18,930.0
		Excavation special			423.00	4-0,- 20.00	4-0.00	4-3/30010
		(water); complete as						
	4990	specified	Tons	40.00	\$14.50	\$580.00	\$11.00	\$440.0
		Bentonite slurry dam			+	4220.00	Ţ-1.00	<b>\$110.0</b>
		(water); complete as						
	4992	specified	Each	25.00	\$1,000.00	\$25,000.00	\$355.00	\$8,875.00
Bid Total:					4-/5100	\$6,342,602.40	4220.00	\$7,243,860.00

Contract 24-15 West 5th Av	enue. West 7th A	venue, Iowa Street, and Mic	higan Street Recor	struction (#881				
Owner: Oshkosh WI, City		l l l l l l l l l l l l l l l l l l l	angui otreet recor	("00.				
Solicitor: City of Oshkosh	01							
Bid Opening: 12/04/2023 11	1:00 AM CST							
Did Opening. 12/04/2025 1.	1.00 AM CD1							
					Carl Bowers & Son	s Const Co. Inc	Dorne	. Inc
					Cari bowers & Son	is Const. Co., Inc.	Dome	r inc.
C c Trid	71 6 1	T. D. '.'	77 (3.6	0 "	77 '4 D '	F	TI '( D '	F
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1		Cl. : I.				\$7,486,766.39		\$7,970,456.80
		Clearing; complete as						
	1011	specified	Inch Diameter	92.00	\$50.00	\$4,600.00	\$52.80	\$4,857.60
		Limbing existing trees;						
	1012	complete as specified	Each	1.00	\$2,200.00	\$2,200.00	\$2,323.00	\$2,323.00
		Grubbing; complete as						
	1021	specified	Inch Diameter	92.00	\$30.00	\$2,760.00	\$31.70	\$2,916.40
		Mobilization; complete as						
	1050	specified	Lump Sum	1.00	\$790,000.00	\$790,000.00	\$550,000.00	\$550,000.00
		Removing pavement;						
	1100	complete as specified	Square Yards	8,200.00	\$6.00	\$49,200.00	\$6.10	\$50,020.00
		Removing curb and						
		gutter; complete as						
	1110	specified	Linear Feet	24.00	\$10.00	\$240.00	\$11.30	\$271.20
		Removing concrete and						
		asphalt sidewalk and						
		driveway; complete as						
	1120	specified	Square Feet	34,500.00	\$0.70	\$24,150.00	\$0.80	\$27,600.00
		Unclassified excavation;						
	1200	complete as specified	Cubic Yards	3,500.00	\$18.00	\$63,000.00	\$17.30	\$60,550.00
		Excavation special						
		(paving); complete as						
	1220	specified	Tons	520.00	\$0.01	\$5.20	\$15.60	\$8,112.00
		7" concrete pavement;						
		with 5" CABC and						
		grading; complete as						
	1301	specified	Square Yards	8,800.00	\$50.82	\$447,216.00	\$54.50	\$479,600.00
		7" concrete pavement						
		HES; with 5" CABC and						
		grading; complete as						
	1303	specified	Square Yards	2,000.00	\$54.82	\$109,640.00	\$59.10	\$118,200.00
		Concrete pavement gaps;						
	1334	complete as specified	Each	2.00	\$1,000.00	\$2,000.00	\$1,055.75	\$2,111.50
		Crushed aggregate base						
		course; complete as						
	1340	specified	Tons	1,370.00	\$15.50	\$21,235.00	\$15.80	\$21,646.00
		Pavement ties; complete				·		· · · · · · · · · · · · · · · · · · ·
	1350	as specified	Each	40.00	\$10.00	\$400.00	\$10.60	\$424.00
		Drilled dowel bars; 1";						
	1352	complete as specified	Each	175.00	\$16.50	\$2,887.50	\$17.40	\$3,045.00

Contract 24-15 West 5th Av	enue, West 7th A	venue, Iowa Street, and Mic	higan Street Recor	struction (#882				
wner: Oshkosh WI, City o	of							
olicitor: City of Oshkosh								
id Opening: 12/04/2023 11	:00 AM CST							
- 1 - 0				1				
		1			Carl Bowers & Sons	Const. Co., Inc.	Dorner	Inc.
					Can bowers a sons	Consu con mer	2011161	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Hem code	Adjust manholes and	COIN	Quantity	Ontrine	Extension	Cint Titee	Extension
		inlets; complete as						
	1360	specified	Each	88.00	\$500.00	\$44,000.00	\$475.00	\$41,800.0
	1360	Turf restoration;	Eacii	00.00	\$300.00	\$44,000.00	\$473.00	\$41,000.0
	1270	· ·	Carrana Vanda	E 000 00	\$9.50	¢=6 0=0 00	\$9.20	¢E4 200 0
	1370	complete as specified Restore gravel	Square Yards	5,900.00	\$9.50	\$56,050.00	\$9.20	\$54,280.0
		_						
	1272	driveway/apron;	C V 1 -	75.00	#20.00	¢2.250.00	¢= 00	¢440 F
	1372	complete as specified Cold weather covering	Square Yards	75.00	\$30.00	\$2,250.00	\$5.90	\$442.50
		(concrete pavement) -						
	1000	single visquine; complete	C V 1	1 (10 00	40.01	#16.10	#O 01	<b>#16.1</b>
	1380	as specified	Square Yards	1,610.00	\$0.01	\$16.10	\$0.01	\$16.10
		Cold weather covering						
		(concrete pavement) -						
		double visquine;			40.00	****	***	****
	1382	complete as specified	Square Yards	1,610.00	\$0.01	\$16.10	\$0.01	\$16.10
		Up-charge for late season						
		cold weather concrete						
		pavement; complete as						
	1390	specified	Cubic Yards	315.00	\$0.01	\$3.15	\$10.60	\$3,339.0
		12" radius curb with 6"						
		CABC and grading;						
	1410	complete as specified	Linear Feet	610.00	\$16.00	\$9,760.00	\$17.60	\$10,736.0
		30" curb and gutter; 7";						
		with 5" CABC and						
		grading; complete as						
	1440	specified	Linear Feet	110.00	\$55.00	\$6,050.00	\$58.50	\$6,435.0
		Sidewalk curb; complete						
	1460	as specified	Linear Feet	320.00	\$35.00	\$11,200.00	\$37.00	\$11,840.0
		4" concrete sidewalk with						
		3" CABC and grading;						
	1500	complete as specified	Square Feet	19,600.00	\$7.95	\$155,820.00	\$6.80	\$133,280.0
		6" concrete sidewalk/						
		driveway/ramp with 3"						
		CABC and grading;						
	1510	complete as specified	Square Feet	13,600.00	\$9.05	\$123,080.00	\$7.90	\$107,440.0
		6" concrete sidewalk/						
		driveway/ramp (HES)						
		with 3" CABC and						
		grading; complete as						
	1514	specified	Square Feet	3,700.00	\$8.95	\$33,115.00	\$8.30	\$30,710.0

Contract 24-15 West 5th Av	enue, West 7th A	venue, Iowa Street, and Mic	higan Street Recor	nstruction (#882				
wner: Oshkosh WI, City	of							
licitor: City of Oshkosh								
d Opening: 12/04/2023 11	1:00 AM CST							
9								
					Carl Bowers & Sons O	Const. Co., Inc.	Dorner I	nc.
					Cuit Bowers & sons (	construction and		
		1						
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Item Code	6" concrete step; complete	COLIVI	Qualitity	OmtTrice	Extension	Onit Trice	Extension
	1530	as specified	Square Feet	170.00	\$65.00	\$11,050.00	\$68.60	\$11,662.
	1550	Curb ramp detectable	Square reet	170.00	\$65.00	\$11,050.00	\$66.00	\$11,002
		warning field						
	1540	(natural/non-painted);	C F .	200.00	#25.00	#12 (50.00	#27.00	#1.4.42O
	1540	complete as specified	Square Feet	390.00	\$35.00	\$13,650.00	\$37.00	\$14,430
		No. 4 reinforcing rods -						
		deformed; epoxy-coated;					** **	
	1550	complete as specified	Linear Feet	3,200.00	\$2.00	\$6,400.00	\$2.10	\$6,720
		Drilled No. 4 sidewalk tie						
		bars - deformed; epoxy-						
		coated; complete as						
	1560	specified	Each	370.00	\$4.00	\$1,480.00	\$4.20	\$1,554
		Cold weather covering						
		(sidewalk) - single						
		visquine; complete as						
	1580	specified	Square Feet	4,510.00	\$0.01	\$45.10	\$0.01	\$45
		Cold weather covering						
		(sidewalk) - double						
		visquine; complete as						
	1582	specified	Square Feet	4,510.00	\$0.01	\$45.10	\$0.01	\$45
		Up-charge for late season						
		cold weather concrete						
		sidewalk; complete as						
	1590	specified	Cubic Yards	70.00	\$0.01	\$0.70	\$0.01	\$0
		Furnish and install tree;			·		·	·
	1600	complete as specified	Each	3.00	\$550.00	\$1,650.00	\$739.00	\$2,217
		Locate existing property			·	• /	·	. ,
		monuments; complete as						
	1650	specified	Each	55.00	\$150.00	\$8,250.00	\$40.00	\$2,200
	1000	Replace existing property	Zuerr	00.00	Ψ100.00	40/20000	\$10.00°	Ψ2/200
		monuments; complete as						
	1652	specified	Each	55.00	\$50.00	\$2,750.00	\$41.00	\$2,255
	1032	Sawing existing	EdCII	33.00	\$30.00	\$2,730.00	\$41.00	\$2,233
		pavement; complete as						
	1700	specified	Linos Foot	970.00	\$3.00	¢2.010.00	\$2.90	¢0.010
	1/00	Sawing concrete	Linear Feet	9/0.00	\$3.00	\$2,910.00	\$2.90	\$2,813
		-						
	4540	pavement full depth;		222 22	45.00	24 (20 00	0= 00	ana
	1710	complete as specified	Linear Feet	320.00	\$5.00	\$1,600.00	\$5.30	\$1,696
		Tack coat; complete as						
	1900	specified	Gallons	35.00	\$3.00	\$105.00	\$12.60	\$441

Contract 24-15 West 5th Av	enue, West 7th A	venue, Iowa Street, and Mic	chigan Street Recor	struction (#882				
wner: Oshkosh WI, City	of							
olicitor: City of Oshkosh								
d Opening: 12/04/2023 1	1:00 AM CST							
1 0								
					Carl Bowers & Sons	s Const. Co., Inc.	Dorner	Inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	nem code	4" asphaltic transition LT	COIN	Quantity	Cint Trice	Extension	Chit Titee	Extension
		with 10" CABC and						
		grading; complete as						
	1911	specified	Square Yards	400.00	\$51.15	\$20,460.00	\$87.40	\$34,960.
	1911	4" asphaltic surface LT	Square raius	400.00	\$31.13	\$20,400.00	ψ07.40	φ04,700.
		with 6" CABC and						
		grading; complete as						
	1916	specified	Square Yards	70.00	\$86.40	\$6,048.00	\$81.80	\$5,726.
	1910	2" asphaltic surface LT	Square raius	70.00	\$00.40	φ0,040.00	ф61.00	\$3,720.
		with 6" CABC and						
		grading; complete as						
	1917	specified	Square Yards	250.00	\$37.20	\$9,300.00	\$52.40	\$13,100
	1717	Asphaltic cold weather	Square rarus	230.00	ψ37.20	ψ2,300.00	ψ32.40	\$15,100
		paving up-charge;						
	1918	complete as specified	Square Yards	70.00	\$0.01	\$0.70	\$1.30	\$91
	1710	Furnish and install 12"	Square rarus	70.00	ψ0.01	ψ0.70	\$1.50	Ψ21
		storm sewer; complete as						
	2003	specified	Linear Feet	700.00	\$87.00	\$60,900.00	\$72.00	\$50,400
	2003	Furnish and install 15"	Effical Teet	700.00	\$67.00	\$00,700.00	Ψ7 2.00	φυσ, 400.
		storm sewer; complete as						
	2006	specified	Linear Feet	625.00	\$92.00	\$57,500.00	\$82.00	\$51,250
	2000	Furnish and install 18"	Linear reet	023.00	\$92.00	\$37,300.00	\$62.00	\$31,230
		storm sewer; complete as						
	2009	specified	Linear Feet	650.00	\$98.00	\$63,700.00	\$90.00	\$58,500
	2009	Furnish and install 24"	Linear reet	030.00	\$78.00	\$05,700.00	\$90.00	φοδ,ουο
		storm sewer; complete as						
	2015	specified	Linear Feet	60.00	\$113.00	\$6,780.00	\$137.00	\$8,220
	2013	Furnish and install 30"	Effical Teet	00.00	\$113.00	φο,, σο.σο	\$137.00	φ0,220
		storm sewer; complete as						
	2021	specified	Linear Feet	10.00	\$156.00	\$1,560.00	\$181.00	\$1,810
	2021	Furnish and install 36"	Linear reet	10.00	\$130.00	\$1,500.00	\$181.00	\$1,010
		storm sewer; complete as						
	2024	specified	Linear Feet	40.00	\$179.00	\$7,160.00	\$239.00	\$9,560
	2024	Furnish and install 14" x	Linear reet	40.00	φ1/9.00	φ1,100.00	ψ239.00	\$9,300
		23" HERCP Class III						
		storm sewer; complete as						
	2045	specified	Linear Feet	20.00	\$138.00	\$2,760.00	\$147.00	\$2,940
	2043	Furnish and install 6' x 12'	Linear reet	20.00	φ136.00	₽∠,/ 00.00	φ147.00	\$2,940
		box culvert storm sewer;						
	2000	· ·	Linear Feet	1 200 00	¢1 740 00	¢2 000 000 00	#1 00 <del>7</del> 00	<b>#3 160 400</b>
	2088	complete as specified	Linear Feet	1,200.00	\$1,740.00	\$2,088,000.00	\$1,807.00	\$2,168,400.

ontract 24-15 West 5th Av	venue, West 7th A	venue, Iowa Street, and Mic	chigan Street Recor	struction (#882				
wner: Oshkosh WI, City	of							
licitor: City of Oshkosh								
d Opening: 12/04/2023 1	1:00 AM CST							
					Carl Bowers & Sons	Const. Co., Inc.	Dorner I	ıc.
				<del>                                     </del>				
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Temporary storm sewer		211 119				
		bypass; complete as						
	2115	specified	Lump Sum	1.00	\$30,000.00	\$30,000.00	\$250,000.00	\$250,000
		Furnish and install	F		420,00000	400,000	4-00,00000	4=00,000
		standard storm sewer						
		manhole (4' diameter);						
	2201	complete as specified	Vertical Feet	69.00	\$500.00	\$34,500.00	\$6,518.00	\$449,742
	2201	Furnish and install	, critical r cct	03.00	\$550.55	\$2.1,200.00	ψο/ο 10.00	ψ113), 11
		standard storm sewer						
		manhole (5' diameter);						
	2202	complete as specified	Vertical Feet	6.25	\$850.00	\$5,312.50	\$6,694.00	\$41,837
	2202	Furnish and install	vertical rect	0.25	фосо.ос	ψ5,512.50	ψ0,051.00	ψ11,007
		standard storm sewer						
		manhole (6' diameter);						
	2203	complete as specified	Vertical Feet	7.00	\$1,100.00	\$7,700.00	\$6,940.00	\$48,580
	2203	Furnish and install	v er tiear r eet	7.00	ψ1,100.00	ψ1,100.00	ψ0,740.00	φ±0,500
		standard storm sewer						
		inlet manhole (4'						
		diameter); complete as						
	2213	specified	Vertical Feet	4.00	\$600.00	\$2,400.00	\$6,588.00	\$26,352
	2213	Furnish and install storm	vertical reet	4.00	\$600.00	\$2,400.00	\$6,388.00	\$20,30
		sewer junction chamber						
		N-13; complete as						
	2225 4	specified	Each	1.00	#80,000,00	#80,000,00	#96 66 <b>2</b> 00	ΦΩ <i>(</i> (()
	2225A	Furnish and install storm	Eacn	1.00	\$89,000.00	\$89,000.00	\$86,662.00	\$86,662
		sewer junction chamber						
		· · · · · · · · · · · · · · · · · · ·						
	222573	O-10; complete as	T. J.	1.00	#81 000 00	#01 000 00	#80 167 00	¢00.16
	2225B	specified Furnish and install storm	Each	1.00	\$81,000.00	\$81,000.00	\$80,167.00	\$80,16
		sewer junction chamber						
	22256	W-10; complete as	г	1.00	# <b>25</b> 000 00	#25 000 00	#21 007 00	# <b>21</b> 00
	2225C	specified	Each	1.00	\$25,000.00	\$25,000.00	\$21,807.00	\$21,807
		Furnish and install storm						
		sewer junction chamber						
	2225	W-12; complete as		100	****	****	***************************************	
	2225D	specified	Each	1.00	\$89,000.00	\$89,000.00	\$86,662.00	\$86,662
		Furnish and install storm						
		sewer junction chamber						
		W-21; complete as						
	2225E	specified	Each	1.00	\$74,500.00	\$74,500.00	\$70,412.00	\$70,412

Contract 24-15 West 5th Aven	ue, West 7th A	venue, Iowa Street, and Mic	higan Street Recon	struction (#882				
wner: Oshkosh WI, City of								
olicitor: City of Oshkosh								
id Opening: 12/04/2023 11:0	0 AM CST							
					Carl Bowers & Sons	Const. Co., Inc.	Dorner 1	nc.
					Carl Bowels & Sons	Colist. Co., Inc.	Bollier	iic.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install storm						
		sewer junction chamber						
		O-11 and connection;						
	2225F	complete as specified	Lump Sum	1.00	\$85,000.00	\$85,000.00	\$83,062.00	\$83,062.
		Furnish and install						
		standard storm sewer						
		manhole riser (4'						
		diameter); complete as						
	2227	specified	Vertical Feet	12.50	\$500.00	\$6,250.00	\$439.00	\$5,487.
		Furnish and install			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , , , , , , , , , , , , , , , , , , ,	,	1-, -
		standard storm sewer						
		inlet manhole riser (4'						
		,						
	2220	diameter); complete as	**	25.00	4500.00	#42 500 00	4.04.00	445.005
	2230	specified	Vertical Feet	25.00	\$500.00	\$12,500.00	\$681.00	\$17,025
		Furnish and install Type 1						
		inlet (with 18" sump);						
	2235	complete as specified	Each	1.00	\$3,700.00	\$3,700.00	\$3,911.00	\$3,911.
		Furnish and install Type 3						
		inlet (with 18" sump);						
	2237	complete as specified	Each	38.00	\$3,000.00	\$114,000.00	\$3,371.00	\$128,098
		Furnish and install 6"						
		storm sewer lateral;						
	2400	complete as specified	Linear Feet	1,500.00	\$73.00	\$109,500.00	\$56.00	\$84,000.
		Furnish and install 8"		,	·	· ´	· ·	
		storm sewer lateral;						
	2402	complete as specified	Linear Feet	50.00	\$81.00	\$4,050.00	\$64.00	\$3,200
	2102	Furnish and install storm	Enicui i eet	30.00	φο1.00	\$1,000.00	ψο1.00	ψ0,200.
		sewer marker balls;						
	2404		Eagle	100.00	\$30.00	\$3,000.00	\$36.00	\$3,600.
	2404	complete as specified Furnish and install storm	Each	100.00	\$30.00	\$3,000.00	\$36.00	\$3,600.
		sewer clay dams;						
	2406	complete as specified	Each	24.00	\$100.00	\$2,400.00	\$125.00	\$3,000.
		Furnish and install storm						
		sewer lateral inlet;						
	2408	complete as specified	Each	36.00	\$900.00	\$32,400.00	\$1,137.00	\$40,932
		Storm lateral inlet						
		adjustments; complete as						
	2414	specified	Each	36.00	\$75.00	\$2,700.00	\$150.00	\$5,400
		Furnish; install; maintain;				.,		,
		and remove Type D						
		modified inlet protection;						
	2508	complete as specified	Each	100.00	\$100.00	\$10,000.00	\$110.00	\$11,000.

Contract 24-15 West 5th Ave	enue, West 7th A	venue, Iowa Street, and Mic	higan Street Recor	nstruction (#882				
wner: Oshkosh WI, City o	of							
olicitor: City of Oshkosh								
d Opening: 12/04/2023 11	:00 AM CST							
1 0								
					Carl Bowers & Sons	Const. Co., Inc.	Dorner	Inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
***************************************		Sediment removal - Type		2				
		D modified inlet						
		protection; complete as						
	2510	specified	Each	100.00	\$3.00	\$300.00	\$25.00	\$2,500.0
	2010	Furnish; install; maintain;	Zuer.	100.00	40.00	400000	Ψ20.00	Ψ2/000.
		and remove stone						
		tracking pad; complete as						
	2512	specified	Each	4.00	\$0.01	\$0.04	\$1,150.00	\$4,600.
	2012	Furnish; install; maintain;	Zuerr	1.00	фоло1	40.01	\$1,100.00	Ψ 2/000.
		and remove stone bag;						
	2516	complete as specified	Each	100.00	\$10.00	\$1,000.00	\$19.20	\$1,920.
	2010	Furnish; install; maintain;	Zuerr	100.00	\$10.00	\$1,000.00	<b>\$13.20</b>	\$1/5 <b>2</b> 0.
		and remove 12" diameter						
		sediment logs; complete						
	2518	as specified	Linear Feet	200.00	\$10.00	\$2,000.00	\$7.80	\$1,560.
		Furnish; install; maintain;			4	4-/******	41.00	4-/
		and remove dewatering						
		tank system; complete as						
	2524	specified	Each	4.00	\$1,000.00	\$4,000.00	\$3,500.00	\$14,000.
		Abandon 8" - 12" storm			, , , , , , , , , , , , , , , , , , , ,	, ,,	, , , , , , , , , , , , , , , , , , , ,	, ,
		sewer; complete as						
	2800	specified	Linear Feet	200.00	\$15.00	\$3,000.00	\$12.00	\$2,400.
		Remove 30" and smaller			,	,,,,,,,,,,,	, , , ,	, ,
		storm sewer; complete as						
	2804	specified	Linear Feet	2,500.00	\$35.00	\$87,500.00	\$38.00	\$95,000.
		Remove 66" and larger		,	·	. ,	·	. ,
		storm sewer; complete as						
	2808	specified	Linear Feet	1,300.00	\$230.00	\$299,000.00	\$98.00	\$127,400.
		Abandon storm sewer		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,	,,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , , , , , , , , , , , , , , , , , , ,
		manholes and inlets;						
	2810	complete as specified	Each	15.00	\$400.00	\$6,000.00	\$430.00	\$6,450.
		Remove storm sewer	<u> </u>		,	4 - 7 7 - 9		,
		manholes and inlets;						
	2812	complete as specified	Each	35.00	\$500.00	\$17,500.00	\$600.00	\$21,000.
		Connect to existing storm				. ,		. ,
	1	sewer main; complete as						
	2850	specified	Each	10.00	\$800.00	\$8,000.00	\$1,476.00	\$14,760.
		Connect to existing storm			,	, , , , , , , , , , , , , , , , , , , ,	.,	, -,, -,,
		sewer lateral; complete as						
	2852	specified	Each	15.00	\$200.00	\$3,000.00	\$297.00	\$4,455.0

ontract 24-15 West 5th Av	enue, West 7th A	venue, Iowa Street, and Mic	higan Street Recor	nstruction (#882				
wner: Oshkosh WI, City	of							
olicitor: City of Oshkosh								
d Opening: 12/04/2023 1	1:00 AM CST							
1 0								
					Carl Bowers & Sons (	Const. Co., Inc.	Dorner In	1C.
	-							
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
occurrent Title	Titali code	Connect to existing storm	001111	Quantity	- Camerrace	Extension	O.M. T.Hee	Litterioren
		sewer manhole; complete						
	2856	as specified	Each	1.00	\$500.00	\$500.00	\$1,138.00	\$1,138.
	2000	Connect to existing storm	Eucit	1.00	φου.υυ	φ500.00	Ψ1,150.00	ψ1,100.
		sewer inlet; complete as						
	2858	specified	Each	1.00	\$500.00	\$500.00	\$888.00	\$888.
	2030	Storm sewer utility line	Lacii	1.00	\$500.00	\$500.00	фосо.ос	φοου.
		opening (ULO); complete						
	2914	as specified	Each	5.00	\$600.00	\$3,000.00	\$1,026,00	\$5,130.
	2914	Excavation special	Edell	5.00	\$600.00	\$3,000.00	\$1,026.00	\$5,130.
		(storm); complete as						
	2950	specified	Tomo	E00.00	\$15.00	¢7 500 00	\$25.00	¢12 E00
	2930	Bentonite slurry dam	Tons	500.00	\$15.00	\$7,500.00	\$25.00	\$12,500
		,						
	2052	(storm); complete as	F1.	25.00	¢500.00	¢17 F00 00	#c82.00	¢22.005
	2952	specified Furnish and install 8"	Each	35.00	\$500.00	\$17,500.00	\$683.00	\$23,905.
	2000	sanitary sewer (relay);	I in a referen	200.00	#150.00	#42 F00 00	¢140.00	¢40.600
	3000	complete as specified Furnish and install 10"	Linear Feet	290.00	\$150.00	\$43,500.00	\$140.00	\$40,600
	2002	sanitary sewer (relay);	T. F.	070.00	#154.00	#151 220 00	#1 (0.00	#1(2.000
	3002	complete as specified	Linear Feet	970.00	\$156.00	\$151,320.00	\$168.00	\$162,960
		Furnish and install 15"						
	2007	sanitary sewer (relay);			#400.00	4440,000,00	4404.00	440
	3006	complete as specified	Linear Feet	660.00	\$180.00	\$118,800.00	\$191.00	\$126,060
		Furnish and install 8"						
		sanitary sewer drop;						
	3060	complete as specified	Vertical Feet	12.50	\$500.00	\$6,250.00	\$747.00	\$9,337
		Furnish and install						
		standard sanitary sewer						
		manhole (4' diameter);						
	3100	complete as specified	Vertical Feet	167.00	\$500.00	\$83,500.00	\$580.00	\$96,860
		Furnish and install						
		sanitary sewer external						
		manhole chimney seal;						
	3114	complete as specified	Each	15.00	\$450.00	\$6,750.00	\$581.00	\$8,715
		Furnish and install						
		sanitary sewer external						
		manhole chimney seal						
		extension; complete as						
	3116	specified	Each	2.00	\$425.00	\$850.00	\$528.00	\$1,056.

ontract 24-15 West 5th Av	enue, West 7th A	venue, Iowa Street, and Mic	higan Street Reco	struction (#882				
wner: Oshkosh WI, City	of							
licitor: City of Oshkosh								
d Opening: 12/04/2023 1	1:00 AM CST							
					Carl Bowers & Sons	s Const. Co., Inc.	Dorner	Inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 10" x		1 7 1				
		4" sanitary sewer factory						
		wyes or tees; complete as						
	3202	specified	Each	1.00	\$325.00	\$325.00	\$305.00	\$305
		Furnish and install 15" x			,	,	, , , , ,	,
		4" sanitary sewer factory						
		wyes or tees; complete as						
	3206	specified	Each	2.00	\$400.00	\$800.00	\$297.00	\$594
		Furnish and install 8" x 6"			4	400000	4-11100	4411
		sanitary sewer factory						
		wyes or tees; complete as						
	3210	specified	Each	5.00	\$225.00	\$1,125.00	\$198.00	\$990
	-	Furnish and install 10" x			4	4-/	4-1-0100	4
		6" sanitary sewer factory						
		wyes or tees; complete as						
	3212	specified	Each	22.00	\$355.00	\$7,810.00	\$338.00	\$7,436
	0212	Furnish and install 15" x	Eucr	22.00	φοσο.σο	ψ/,010.00	фосо.ос	ψ1,100
		6" sanitary sewer factory						
		wyes or tees; complete as						
	3216	specified	Each	20.00	\$400.00	\$8,000.00	\$361.00	\$7,220
	5210	Furnish and install 4"	Eucri	20.00	Ψ100.00	\$0,000.00	ф561.00	ψ1,220
		sanitary sewer laterals						
		(new); complete as						
	3230	specified	Linear Feet	110.00	\$110.00	\$12,100.00	\$110.00	\$12,100
	3230	Furnish and install 4"	Linear Feet	110.00	ψ110.00	\$12,100.00	\$110.00	\$12,100
		sanitary sewer riser						
		(new); complete as						
	3231	specified	Linear Feet	15.00	\$110.00	\$1,650.00	\$135.00	\$2,025
	3231	Furnish and install 4"/6"	Linear Feet	15.00	ψ110.00	\$1,000.00	\$133.00	\$2,020
		sanitary sewer lateral						
		(relay); complete as						
	3234	specified	Linear Feet	1,660.00	\$115.00	\$190,900.00	\$114.00	\$189,240
	3234	Furnish and install 4"/6"	Linear reet	1,000.00	\$115.00	\$190,900.00	\$114.00	\$109,240
		sanitary sewer riser						
	2225	(relay); complete as specified	Limon Foot	202.00	¢120.00	¢24.240.00	¢1.45.00	¢20,200
	3235	Furnish and install	Linear Feet	202.00	\$120.00	\$24,240.00	\$145.00	\$29,290
		sanitary sewer lateral						
	2226	marker balls; complete as	F. 1	07.00	#20.00	#2.010.00	#0.C 00	#0.100
	3236	specified	Each	97.00	\$30.00	\$2,910.00	\$36.00	\$3,492

Contract 24-15 West 5th Avenu	ue, West 7th A	venue, Iowa Street, and Mic	higan Street Recor	struction (#882				
Owner: Oshkosh WI, City of								
Solicitor: City of Oshkosh								
Bid Opening: 12/04/2023 11:00	AM CST							
					Carl Bowers & So	ns Const Co. Inc	Dorne	er Inc
					Carr Bowers & So.	ns const. co., mc.	Dome	i iic.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install clay						
		dams; complete as						
	3238	specified	Each	25.00	\$100.00	\$2,500.00	\$125.00	\$3,125.00
		Furnish and install			· ·	. ,	·	. ,
		connection to existing 8"						
		sanitary sewer mains;						
	3300	complete as specified	Each	5.00	\$1,500.00	\$7,500.00	\$2,312.00	\$11,560.00
		Furnish and install			, ,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	1,7	, ,
		connection to existing 10"						
		sanitary sewer mains;						
	3302	complete as specified	Each	1.00	\$1,600.00	\$1,600.00	\$2,669.00	\$2,669.00
		Furnish and install			4-/	4-700000	4-/	4-/******
		connection to existing 15"						
		sanitary sewer mains;						
	3306	complete as specified	Each	2.00	\$2,500.00	\$5,000.00	\$3,815.00	\$7,630.00
		Furnish and install			4-/	40,00000	44/4-24104	4.7.00000
		sanitary sewer concrete						
		collars; complete as						
	3330	specified	Each	3.00	\$500.00	\$1,500.00	\$650.00	\$1,950.00
		Core into existing			400000	42,000.00	400000	4-/
		manhole; complete as						
	3332	specified	Each	1.00	\$1,500.00	\$1,500.00	\$4,057.00	\$4,057.00
	5552	Furnish and install 10"	Zucii	1.00	\$1,000.00	\$1,000.00	\$ 1,007.00	<i>\$1,007.00</i>
		sanitary sewer open cut						
		casing pipes; complete as						
	3404	specified	Linear Feet	240.00	\$160.00	\$38,400.00	\$173.00	\$41,520.00
	5101	Furnish and install 18"	Effect Feet	210.00	φ100.00	ψ50,100.00	ψ175.00	ψ11,020.00
		sanitary sewer open cut						
		casing pipes; complete as						
	3410	specified	Linear Feet	20.00	\$200.00	\$4,000.00	\$225.00	\$4,500.00
	5110	Rock excavation;	Effect Feet	20.00	Ψ200.00	Ψ1,000.00	Ψ225.00	ψ1,500.00
	3600	complete as specified	Cubic Yards	25.00	\$150.00	\$3,750.00	\$150.00	\$3,750.00
	5555	Closed circuit televising;	24010 14140	25.00	Ψ100.00	\$5,750.00	\$150.00	\$5,750.00
	3700	complete as specified	Linear Feet	1,920.00	\$2.00	\$3,840.00	\$3.20	\$6,144.00
	5,00	Closed circuit televising -	_mear reet	2,520.00	Ψ2.00	\$5,010.00	ψ0.20	\$0,111.00
		using push camera;						
	3710	complete as specified	Each	4.00	\$250.00	\$1,000.00	\$158.00	\$632.00
	3710	Abandon sanitary sewer	Lacii	4.00	Ψ230.00	φ1,000.00	ψ130.00	φ032.00
		manholes; complete as						
	3800	specified	Each	2.00	\$500.00	\$1,000.00	\$594.00	\$1,188.00
	3000	specified	EdCII	2.00	00.00εφ	\$1,000.00	\$39 <b>4.</b> 00	\$1,188.00

Contract 24-15 West 5th Avenu	ıe, West 7th A	venue, Iowa Street, and Mic	higan Street Recor	nstruction (#882				
wner: Oshkosh WI, City of								
olicitor: City of Oshkosh								
d Opening: 12/04/2023 11:00	AM CST							
I 8								
					Carl Bowers & Sons	s Const. Co., Inc.	Dorner	Inc.
					Carr Bowers & Sons	s const. co., me.	Волис	IIIC.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Abandon 8" sanitary						
		sewer; complete as						
	3802	specified	Linear Feet	28.00	\$10.00	\$280.00	\$9.00	\$252
		Abandon 10" sanitary			·		·	
		sewer; complete as						
	3804	specified	Linear Feet	563.00	\$12.00	\$6,756.00	\$10.00	\$5,630
		Abandon 30" sanitary			·		·	. ,
		sewer; complete as						
	3818	specified	Linear Feet	571.00	\$40.00	\$22,840.00	\$45.00	\$25,695
	5515	Remove sanitary sewer	Efficial Teet	0, 1.00	<b>\$10.00</b>	\$22/010.00	Ψ10.00	420,000
		manholes; complete as						
	3852	specified	Each	3.00	\$800.00	\$2,400.00	\$734.00	\$2,202
	5652	Remove sanitary sewer;	Buch	5.00	φοσο.σο	Ψ2,100.00	ψ, σ1.00	Ψ2,202
	3854	complete as specified	Linear Feet	211.00	\$35.00	\$7,385.00	\$72.00	\$15,192
	5651	Sanitary sewer utility line	Effect Feet	211.00	фос.ос	ψ,,,,,,,,,	ψ, 2.00	ψ10,172
		opening (ULO); complete						
	3890	as specified	Each	2.00	\$600.00	\$1,200.00	\$1,503.00	\$3,006
	3070	Excavation special	Lacri	2.00	φοσο.σο	ψ1,200.00	ψ1,303.00	ψ0,000
		(sanitary); complete as						
	3892	specified	Tons	60.00	\$15.00	\$900.00	\$25.00	\$1,500
	3692	Bentonite slurry dam	10115	00.00	\$15.00	\$200.00	\$25.00	\$1,500
		(sanitary); complete as						
	3894		Each	28.00	\$500.00	\$14,000.00	\$1,116.00	\$31,248
	3694	specified Furnish and install 4"	EdCII	26.00	\$300.00	\$14,000.00	\$1,110.00	\$31,2 <del>4</del> 0
		ductile iron water main						
		(relay) with polywrap;						
	4000		Linear	2.00	\$300.00	#400.00	#2(0.00	ф <b>г</b> 20
	4000	complete as specified Furnish and install 6"	Linear Feet	2.00	\$300.00	\$600.00	\$260.00	\$520
		ductile iron water main						
	4000	(relay) with polywrap;	** ** .	2=0.00	4450.00	425 500 00	4440.00	400 500
	4002	complete as specified Furnish and install 8"	Linear Feet	250.00	\$150.00	\$37,500.00	\$118.00	\$29,500
		ductile iron water main						
	4004	(relay) with polywrap;	**	201055	ma	400 ( (00 00		*****
	4004	complete as specified	Linear Feet	2,040.00	\$165.00	\$336,600.00	\$154.00	\$314,160
		Furnish and install 10"						
		ductile iron water main						
		(relay) with polywrap;						
	4006	complete as specified	Linear Feet	150.00	\$190.00	\$28,500.00	\$172.00	\$25,800

Contract 24-15 West 5th Ave	nue, West 7th A	venue, Iowa Street, and Mic	higan Street Recor	struction (#882				
Owner: Oshkosh WI, City o	f		_					
olicitor: City of Oshkosh								
id Opening: 12/04/2023 11:	00 AM CST							
- I - 9								
					Carl Bowers & Sons (	Const. Co., Inc.	Dorner I	nc.
					can bowers & sons	const. co., me.	Donier I	iic.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Hem Code	Furnish and install 12"	COLIVI	Qualitity	Official	Extension	Omt Tite	Extension
		ductile iron water main						
		(relay) with polywrap;						
	4008		Linear Feet	600.00	\$210.00	\$126,000.00	\$188.00	¢112 000 0
	4008	complete as specified Furnish and install 1"	Linear reet	600.00	\$210.00	\$126,000.00	\$100.00	\$112,800.00
		water service (relay);						
	4026		LinconFoot	1 452 00	#09.00	¢142 204 00	#80.00	#117.240.00
	4036	complete as specified Furnish and install 1"	Linear Feet	1,453.00	\$98.00	\$142,394.00	\$80.00	\$116,240.0
	10.12	water service (new);		125.00	#00.00	442.250.00	#00.00	#40.000.00
	4042	complete as specified	Linear Feet	125.00	\$98.00	\$12,250.00	\$80.00	\$10,000.00
		Furnish and install 1"						
		corporation and stop box;				******	*****	
	4048	complete as specified	Each	44.00	\$600.00	\$26,400.00	\$659.00	\$28,996.0
		Furnish and install water						
		service clay dams;						
	4055	complete as specified	Each	23.00	\$100.00	\$2,300.00	\$125.00	\$2,875.00
		Furnish and install						
		connections to existing 4"						
		water main; complete as						
	4056	specified	Each	1.00	\$1,800.00	\$1,800.00	\$2,287.00	\$2,287.0
		Furnish and install						
		connections to existing 6"						
		water main; complete as						
	4058	specified	Each	4.00	\$1,800.00	\$7,200.00	\$2,623.00	\$10,492.0
		Furnish and install						
		connections to existing 8"						
		water main; complete as						
	4060	specified	Each	5.00	\$2,000.00	\$10,000.00	\$3,083.00	\$15,415.0
		Furnish and install						
		connections to existing						
		10" water main; complete						
	4062	as specified	Each	1.00	\$2,500.00	\$2,500.00	\$3,600.00	\$3,600.00
		Furnish and install						
		connections to existing						
		12" water main; complete						
	4064	as specified	Each	1.00	\$2,800.00	\$2,800.00	\$3,865.00	\$3,865.0
		Furnish and install 6" x 6"			·		·	· · · · · · · · · · · · · · · · · · ·
		water main tee; complete						
	4101	as specified	Each	1.00	\$550.00	\$550.00	\$641.00	\$641.0
		Furnish and install 8" x 6"			,	,	7	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		water main tee; complete						
	4110	as specified	Each	6.00	\$720.00	\$4,320.00	\$843.00	\$5,058.0

		venue, Iowa Street, and Mich	igan Street Reco	nstruction (#882				
wner: Oshkosh WI, City	of							
licitor: City of Oshkosh								
d Opening: 12/04/2023 11	1:00 AM CST							
					Carl Bowers & Sons C	Const. Co., Inc.	Dorner Ir	ıc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 8" x 8"						
		water main tee; complete						
	4111	as specified	Each	4.00	\$810.00	\$3,240.00	\$943.00	\$3,772.
		Furnish and install 10" x				•		·
		6" water main tee;						
	4119	complete as specified	Each	1.00	\$1,000.00	\$1,000.00	\$1,149.00	\$1,149.
		Furnish and install 8" x			·	•	·	<u> </u>
		10" water main cross;						
	4190	complete as specified	Each	1.00	\$1,300.00	\$1,300.00	\$1,493.00	\$1,493
		Furnish and install 8" x			. ,	. ,		
		12" water main cross;						
	4191	complete as specified	Each	1.00	\$1,400.00	\$1,400.00	\$1,588.00	\$1,588
		Furnish and install 10" x			. ,	. ,		· ·
		12" water main cross;						
	4197	complete as specified	Each	1.00	\$1,700.00	\$1,700.00	\$1,961.00	\$1,961
		Furnish and install 10" 22-			, ,	, ,	, , , , , , , , , , , , , , , , , , , ,	. , ,
		1/2 degree water main						
		bend; complete as						
	4229	specified	Each	2.00	\$710.00	\$1,420.00	\$801.00	\$1,602
		Furnish and install 4" 45			,	, ,	****	, , ,
		degree water main bend;						
	4235	complete as specified	Each	2.00	\$295.00	\$590.00	\$336.00	\$672
		Furnish and install 6" 45			4=7000	407000	400000	4
		degree water main bend;						
	4236	complete as specified	Each	28.00	\$375.00	\$10,500.00	\$426.00	\$11,928
		Furnish and install 8" 45			40.000	4-0,00000	4-2-000	4/
		degree water main bend;						
	4237	complete as specified	Each	8.00	\$475.00	\$3,800.00	\$555.00	\$4,440
		Furnish and install 10" 45			4 = 0.00	40,00000	400000	+-,
		degree water main bend;						
	4238	complete as specified	Each	4.00	\$715.00	\$2,860.00	\$812.00	\$3,248
	1200	Furnish and install 12" 45		1.00	φ. 20.00	\$ <b>=</b> ,000.00	4012.00	\$0, <b>21</b> 0
		degree water main bend;						
	4239	complete as specified	Each	8.00	\$940.00	\$7,520.00	\$1,083.00	\$8,664
	1207	Furnish and install 6" x 4"		0.00	ψ, 10.00	φ. /020.00	Ψ1/000.00	40,001
		water main reducer;						
	4262	complete as specified	Each	1.00	\$320.00	\$320.00	\$363.00	\$363
	1202	Furnish and install 8" x 6"	Lucii	1.00	ψ020.00	φ020.00	φοσο.σσ	ψ303
		water main reducer;						
	4264	complete as specified	Each	2.00	\$420.00	\$840.00	\$470.00	\$940

Contract 24-15 West 5th Av	enue, West 7th A	venue, Iowa Street, and Mich	igan Street Reco	nstruction (#882				
wner: Oshkosh WI, City	of							
olicitor: City of Oshkosh								
id Opening: 12/04/2023 11	1:00 AM CST							
					Carl Bowers & Sons (	Const. Co., Inc.	Dorner Ir	ıc.
		<u> </u>						
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Helli Code	Furnish and install 10" x	COLIVI	Qualitity	Chit i fice	Extension	Offit Frice	Extension
		6" water main reducer;						
	1266		Е 1	2.00	#F40.00	#1 (20.00	#c22.00	#1.066.0
	4266	complete as specified	Each	3.00	\$540.00	\$1,620.00	\$622.00	\$1,866.0
		Furnish and install 12" x						
		8" water main reducer;						
	4270	complete as specified	Each	1.00	\$715.00	\$715.00	\$838.00	\$838.0
		Furnish and install 8"						
		water main plug;						
	4309	complete as specified	Each	1.00	\$260.00	\$260.00	\$1,299.00	\$1,299.0
		Cut and cap existing 4"						
		water main; complete as						
	4350	specified	Each	1.00	\$900.00	\$900.00	\$688.00	\$688.0
		Cut and cap existing 6"			·		·	·
		water main; complete as						
	4352	specified	Each	2.00	\$1,000.00	\$2,000.00	\$869.00	\$1,738.0
	1002	Cut and cap existing 8"	Euch	2.00	\$1,000.00	\$2,000.00	фоол.00	ψ1,750.0
		water main; complete as						
	4354	=	Each	2.00	\$1,100.00	\$2,200.00	¢1 117 00	¢2 224 0
	4334	specified Cut and cap existing 10"	Eacn	2.00	\$1,100.00	\$2,200.00	\$1,117.00	\$2,234.0
		water main; complete as					*****	
	4356	specified	Each	2.00	\$1,200.00	\$2,400.00	\$1,344.00	\$2,688.0
		Cut and cap existing 12"						
		water main; complete as						
	4358	specified	Each	2.00	\$1,300.00	\$2,600.00	\$1,518.00	\$3,036.0
		Furnish and install 4"						
		water main gate valve;						
	4400	complete as specified	Each	1.00	\$1,800.00	\$1,800.00	\$1,748.00	\$1,748.0
		Furnish and install 6"						
		water main gate valve;						
	4401	complete as specified	Each	10.00	\$2,100.00	\$21,000.00	\$1,978.00	\$19,780.0
		Furnish and install 8"				. ,	. ,	. ,
		water main gate valve;						
	4402	complete as specified	Each	25.00	\$3,000.00	\$75,000.00	\$2,800.00	\$70,000.0
	4402	Furnish and install 10"	Each	25.00	\$5,000.00	\$7.5,000.00	\$2,000.00	φ/ 0,000.0
		water main gate valve;						
	4400		T1-	( 00	¢4 200 00	#2F 200 00	¢4.0E7.00	d0.4.0.40.6
	4403	complete as specified Furnish and install 12"	Each	6.00	\$4,200.00	\$25,200.00	\$4,057.00	\$24,342.0
		water main gate valve;						
	4404	complete as specified	Each	5.00	\$5,000.00	\$25,000.00	\$4,891.00	\$24,455.0
		Furnish and install						
		hydrant; complete as						
	4500	specified	Each	7.00	\$5,800.00	\$40,600.00	\$6,167.00	\$43,169.0

		venue, Iowa Street, and Micl	nigan Street Recor	nstruction (#882				
Owner: Oshkosh WI, City o	f							
Solicitor: City of Oshkosh								
Bid Opening: 12/04/2023 11:	:00 AM CST							
					Carl Bowers & Sons	Const. Co., Inc.	Dorner 1	inc.
Section Title	Item Code	Item Description	UofM	0	Unit Price	Extension	Unit Price	Potencies
Section Title	Item Code	Furnish and install 2"	COIM	Quantity	Unit Price	Extension	Unit Price	Extension
		water main casing pipe;					***	
	4712	complete as specified	Linear Feet	200.00	\$100.00	\$20,000.00	\$84.00	\$16,800.0
		Furnish and install 18"						
		water main casing pipe;						
	4726	complete as specified	Linear Feet	60.00	\$200.00	\$12,000.00	\$216.00	\$12,960.0
		Furnish and install 24"						
		water main casing pipe;						
	4730	complete as specified	Linear Feet	50.00	\$300.00	\$15,000.00	\$248.00	\$12,400.0
		Rock excavation;						
	4800	complete as specified	Cubic Yards	20.00	\$0.01	\$0.20	\$150.00	\$3,000.0
		Abandon water main on						
		West 5th Avenue;						
	4900	complete as specified	Lump Sum	1.00	\$6,000.00	\$6,000.00	\$2,815.00	\$2,815.0
		Abandon water main on						
		West 7th Avenue;						
	4902	complete as specified	Lump Sum	1.00	\$6,000.00	\$6,000.00	\$1,714.00	\$1,714.0
		Abandon water main on	•					·
		Iowa Street; complete as						
	4904	specified	Lump Sum	1.00	\$6,000.00	\$6,000.00	\$1,714.00	\$1,714.0
		Abandon water main on	<u> </u>		, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , ,	, ,	
		Michigan Street; complete						
	4906	as specified	Lump Sum	1.00	\$6,000.00	\$6,000.00	\$1,351.00	\$1,351.0
	1,00	Remove water main;	Zump Jum	1.00	φο/ουσίου	\$0,000.00	\$1,001.00	Ψ1/001.0
	4920	complete as specified	Linear Feet	631.00	\$25.00	\$15,775.00	\$47.00	\$29,657.0
	1,720	Excavation special	Ellicar rect	001.00	Ψ20.00	ψ10,773.00	Ψ17.00	Ψ25,007.0
		(water); complete as						
	4990	specified	Tons	40.00	\$15.00	\$600.00	\$25.00	\$1,000.0
	4770	Bentonite slurry dam	10115	40.00	\$15.00	ΦΟΟ.ΟΟ	\$25.00	\$1,000.0
		(water); complete as						
	4992	specified	Each	25.00	\$500.00	\$12,500,00	¢701.00	¢10 775 00
Bid Total:	4992	specified	Each	25.00	\$500.00	\$12,500.00 \$7,486,766.39	\$791.00	\$19,775.00 <b>\$7,970,456.8</b> 0